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Question Number One
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Put the following paragraphs in the correct order:
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It is of course difficult to say exactly what
transportation will look like in the future,
because of the infrastructural changes that
are happening constantly at the moment.
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Do you know what you're going to study at
university?
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Worldwide transport in the future

A. In order to get to other countries, we will be taking airships, which will be like aeroplanes
but with more facilities available. It will be possible to travel to the other side of the world in
much less time, because these airships will race around at a far greater velocity.

B. Finally, modes of transport are always changing, depending on many different factors,
but one thing is certain; we will still be travelling the whole world! We might even be able to
experience weightlessness by travelling to space!

C. It is of course difficult to say exactly what transportation will look like in the future,
because of the infrastructural changes that are happening constantly at the moment. To
me, it seems that transport may well have changed a lot in one hundred years' time.

D. Perhaps there will be no more private transport by 2115 CE. It is possible that public
transport will have improved so much that no one will need their own cars. We might all be
zooming around in ecologically-sound electric buses and trams that will take us to our
destinations smoothly!
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Decisions, decisions

A. Firstly, | want to help people, but Science is not my strongest subject so | won’t be able
to do Medicine. | could study Psychology and follow a career path in that area, but | don’t
know much about it. If any of you are Psychology students, please do message me about
your course. I'd love to hear about it — what you love, what you like, and of course what
you don't like at all!

B. Do you know what you're going to study at university? I've come up with some ideas but
| really need your help! Do get in touch if you have any stories or advice that you think
might help me to make this life changing choice.

C. So, can you help me with my decision? We could start up a useful conversation about
choosing paths for ourselves at this next exciting stage!

D. Secondly though, I'd really like to study something like Linguistics, because I've always
been interested in language. I've done some research and found out that, while it doesn’t
lead directly to a career, it is interesting and academic, as well as a well-respected degree.
Can you help me get a better picture of it?
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Question Number Two:

Choose the suitable item from A, B, C or D

S, , technology makes communication more convenient.

The suitable linking words indicating consequence in the above sentence should be:

A. Despite

B. However
C. Whereas
D. In this way

2. However, social media is time-consuming.
The underlined linking word in the above sentence indicates:

A. Consequence
B. Opposition
C. Conclusion

D. Personification

3. The aim of this report is to discuss healthcare facilities in Jordan.
The above sentence is used for:

A. Introduction
B. Reporting information
C. Conclusion

D. Recommendation

4. ... the recent advances in technology, it is still unreliable.
Which linking work should be used for the above sentence?

A. Therefore

B. As a consequence

C. Despite

D. However



5. Our computers and mobile phones will take care of us, by telling us when to wake
up, eat and sleep.

Which rhetorical device is used in the above sentence?

A. Metaphor
B. Simile
C. Onomatopoeia

D. Personification

6. Treatment and medicines will taste as delicious as real food.
The language used in the above sentence refers to:

A. Simile

B. Introduction of report

C. Coherence

D. Onomatopoeia

7. We will be taking airships, which will be like aeroplanes but with more facilities
available.

What rhetorical device is used in the above sentence?
A. Metaphor

B. Simile

C. Onomatopoeia

D. Personification

8. Life is a journey, and the possibilities for travel keep growing.
What rhetorical device is used in the above sentence?

A. Metaphor

B. Simile

C. Onomatopoeia

D. Personification



9. We might all be zooming around in ecologically sound electric buses and trams.
The underlined word shows:

A. Metaphor
B. Simile
C. Onomatopoeia

D. Personification

10. Which of the following words indicates opposition?

A. Despite
B. As a consequence
C. In this way

D. Therefore

Answers

1.D 2.B 3.A 4.C 5.D
6. A 7.B 8.A 9.C 10. A
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